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TEST SERIES 1
BOARD PATTREN (1,2,3,4,5) set 1

Q1
The first term of an A.P. is 5 and its 100th term is –292. Find the 50th term of this  AP
Q2       If ab,bc,ca are in AP show that 
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 are also in A.P,show reverse order is also true 



Q3    In the following equation, determine the set of values of p for which the quadratic    
           equation has real roots: px2 + 4x + 1 = 0


Q4    Find graphical solution of  3x + 2y = 8; 5x  2y = 8: x+y = 2

Q5    Find the value of 'k' for which the following system of equations has no solutions:
           (a) kx - 5y = 2; 6x + 2y = 7 (b) kx + 3y = 3; 12x + ky = 8

Q6      A person bought a scooter and a T.V. for Rs. 24,000. If he sold the scooter at a gain of 
           27% and the T.V. at a gain of 15%, the gain was 20% on the whole. Find the cost of each        

Q7      Find the value of a and b if the polynomials p(x) and q(x) have (x + 2)(x - 3) as their 
           h.c.f. p(x) = (x2 + 3x +2) (x2 - 4x + a) and q(x) = (x2 - 6x + 9) (x2 + 4 x + b)    

Q8      
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Q9       
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Q10      
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Q11
A boat takes 10 hours to travel 30 kms upstream and 44 kms downstream, but takes 13 

              hours to travel 40 kms upstream and 55 kms downstream. Find the speed of the boat in                      
still water and the speed of the stream

Q12
The age of Ram's mother is four times the age of Ram. Five years ago, the sum of their

              ages was 30 years. Find their present ages

Q13
When the speed of a bicycle is increased by 2 km/h, the time taken to cover 40 kms reduces by 1 hour. Find the original speed of the bicycle

Q14
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Q17
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Q19
Solve : 37 x + 41y = 70, 41 x + 37y = 86.

Q20
If  l and m are lcm and gcd of two polynomials x and y  such that l + m = x + y,show 

              that   
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Q21
Solve by cross multiplication 
a(x+y) + b(x-y) = a2- ab + b2   ,a(x-y) – b(x-y) = a2+ab+b2
Q22
Points A & B are 90 Km. Apart from each other once highway.  A car starts from A and 
another from B at the same time.  If they go in same direction, they meet in 9 hrs. and if 
they go in opposite directions, they meet in 9/7 hrs.  Find their speeds
Q23
A man bought a fountain pen for Rs. 'x' and sold it for Rs. 25. If his loss was'x%', find the

cost price of the fountain pen

Q24
An aeroplane left an airport 1hour late than the scheduled time. In order to reach its 
destination 900 km away, it had to increase its speed by 30 km/h. Calculate its original 
speed
Q25
A square metal sheet of length 15 cm is to be made into an open box of base area 100 cm² by cutting out equal squares from each corner and then bending up the edges. Find the length of the side of the square cut from each corner
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